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[ et @ aramon < awen e S ; ' (2x5=10)
1) 3T Ioeh! AT I AR B 3w Wi B, aﬂtWa’maﬁa’ttﬁanaemil
2) T wE & Al B g Fer § gown w4
3) ‘o g@ W’ 39 TR W W wed fe Medigw gw @ B wh 0
4) *amg ¥ @ W W ek § TR T G §) @ e d g v

T, 5t & ot & o fafem : (2%15=30)
1) ‘fam damt ¥ ' TR A HaEy R
2) ‘famn dEnt F W mﬁma‘taﬁmﬁaﬁwﬂmt
3) fomr Sard & WU AeH & AW ¥ O W S B ARl S e Hii |
4) ‘e Gt % W' s § Rifra wrensdt ® e sl |

IV, Rl e e feomoh R  (3x5=15)
1) whm
2) i
3) s
4y I
5) IRE W R

V., &= e fifm (1x15=15)
Mobile is one of the miracles of modern technology. It is an important communication
instrument of recent times. Now it has become the part and parce! of human life. It has created
revolution in the field of communication technology.

SR SENE BEFNFT TR, 2.0mNG, B0 BT DT 10w Waal) HOTET YOTECEaTDNGS. B4 5K
TSN BESRCY, SR, SOMAG, BT RSB oW T3 FFBTY, 10t BR 10,0805 SRAT..
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Reg. No.

Il Semester B.Com.3 Degree Examination, Nov./Dec. 2018
PRINCIPLES OF ENTREPRENEURSHIP DEVELOPMENT
(Regular)

»

Time : 3 Hours ' Max. Marks ; 80

1.

Instructions : 1) Attempt all questions according to their internal choice.
| 2) Question No. 11 Section — D is compulsory.
| SECTION - A ' |
Answer any ten of the following questions. (10x2=20)
a) What is franchising ?
b) Define women entrepreneurs.
¢) What is creativity ?
d) Define entrepreneurship.
¢) Give the meaning of small scale industry.
f) Who is intrapreneur ?
g) Mention any two institutions giving training to women entrepreneurs.
h) What do you mean by technical skill ?
1) Expand the following :
i) NAYE ii) CEDOK
j) State two functions of DIC.
k) Give the meaning of problem solving techniques.
1) State two features of EDP.
' SECTION -~ B

Answer any three of the following questions. (3x5=15)

AN Ol

Explain the problem solving guidelines.

Distinguish between entrepreneurs and entrepreneurship.

Explain the need of women entrepreneur in the economic development of India.
Explain the objectives of small scale industries.

Briefly explain the qualities of an entrepreneur.

P.T.O.
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| SECTION - C
Answer any twe of the following questions. {(2x15=30)
7. Explain the advantages and disadvantages of small scale industries. _
8. Explain the scope and problems faced by women entrepreneurs, .
9. ‘Entrepreneurs are not born but can be developed’, In the light of this statement, explain the
need for entrepreneurship development in India.
10. Explain the different stages of creative thoughts.
SECTION-D
Case study (compulsory question). _ (1xX15=15)
I1. Mr. Raju is a B.Com. graduate. Now he wants to -establish a small scale unit for his self
employment. You have to advise him by giving answer to the following questions :
1) Where to establish a small scale unit and why ?
2) What preparations he has to make for the establishment of the proposed unit ?
3) What are the government assistance for the proposed unit ? '

1. 8 #9n3 desors BR BF 0N wv3040. (10x2=20)
‘a) F,08N0n oTidesd ? |
b) Rvtvo erm Bodews a8, Dead.
¢} BuRE 20TBe ?
d) evmeecd 38, dord.
e) Reg eudoob BBFE 3RR0.
f) w0808 e @oseeRons cintd ?
g) ke oz Hdewdnt S0Lied HERIT TR RO, 308D
h) =083 PBe;, Domded ?
) DFor w3
i) NAYE i) CEDOK
J) B, Emos #6038 S0M TCRFRVEY 30RO
k) ﬁ&ﬁﬁ TOTBOROW 30, nPorsezd 7
D) g sz 3,500 FAIFE,RHR 20 CFLRRT, IPR0.
DTt — 2
B2 89N lesors o TZNOR GU3oRD. (3x5=15)
2. z.’abmzj DOTICT TWRNFTSF mg,mai DHOAD,
3. umEhdeuth By sorderdoh FFINTRY HTOKD.
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4. RUIS SRFRRR GO ke HOE b0 T INT BT BI0HR HIORD.
5. Ry, §modne euCiesnvR Do
6. er@obes B 50b OROFLMNYRY 0ITTIN DTORS.
R -8
S 3N teword a3th T3 ner evZord. (2x15=30)
7. Ry §roodd esEpednvs) Tone ETRELLIATL, DIOKO. '
8. Rew eorabeees e e SEHOZD RNV, DFORO.
9. ‘eorbeot BorsRoney,, e v OrevRLERD, 0000 BerBon 0R Sed GRUSEY ruE s
SHFROD ST FER) DTORO,
10.  ZzRoagon DRF MUY Bo3reRy HSOAD.
R~ a
TI0m Hfeans (dmed L), _ : . _ (1x15=15)
1. 20. o020 1y, 0.500. IBOGOTNDS. Bt o I, Fo3 R TN A5y, TBROT QO
m@&ﬁzﬂeeomm%ai. Q6P e 3: #9n BEriont IoDFIT Bonet InnrEBES Leao |
1) 2 e evpshonm w,topRead ? of ?
2) Rdaiaess eudRedR &,C0pRe BondREeRE Yar3aint o7 ?
3) Ralewniz uisrt s J0FTE JTockritd Ry 7
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Reg. No.
I1I Semester B.Com. 3 Degree Examination, November/December 2018
BUSINESS STATISTICS
Paper —- I (Regular and Fresh)
Time : 3 Hours Max. Marks : 80

Instructions : 1) Working steps should be mentioned.
2) Simple calculator is allowed.
0) LA BosNVEy VOB S2PDL0.
2) xo¥ easabog el cvmedeenive SRY SRATING,

SECTION — A/agen— e :
1. Answer any ten questions. (10x2=20)
deeod @) Fdnon vudoro.

a) Define statistics in Singular Sense.

ROIRBORLS 353,48, 4RO - HESBSTY,

b) What do you mean by ordinal scale and nominal scale in the measurement ?
b IESrE HRRm %) BRon Ing Fwwrs 20TBeED 7

¢) Define census survey.

B, Aoedod> Ty R0,
d) Write the components of time series.
e erdod ToqHessnd) Ldowd.
¢) What do you mean by absolute measure and relative measure ?
Topror R T Bed IRTT 0B 7
f) Two unbiased coins are tossed. Find the probability of getting no heads.
Q0 woded IV, Fedren Irish won 5oﬁdaeozﬁso§.)az Bow) LEOWD.

g) For a frequency distabution, coefficient of variation is 60% and arithmetic mean is 20.
Find standard deviation. |
2,00 e5533 Rosms, HITHAD e rOmoE 60% o) RooRd 20 enss. BhE Dot DS BorBD.

h) Name the various graphs you have studied.

Jeg) eans HOF BEoon udad wZrvs) 300,

i) If the straight line trend predicting the sales of a company taking 2010. as origin is
Y = 2000 + 40x, then predict the possible sales of the company for the year 2019.
oz BoTROD RNovLs A Seam TFFdatn, 2010 8 sweemh Y = 2000 + 40x QTIT, &8 BOTRED
2019 Be S5 6ris RROEE 00wz BorHERO0.

) IFE(x) =12 and E(y) = 10; then find E (3x + 2y).

E(x) = 12 @ E(y) = 10 g, E (3x + 2y) & do@>éa000.
k) Write the normal equations in fitting the equation of the type Y =a + bx.
Y =2 + bx B20e88na Hroaing Raoescrons wiono.
‘ PT.O.
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1) For a frequency distribution; Q,
skewness.

2.

=39,Q,=42and Q, =

48. Find Bowley’s coefficient of

.00 5533 Do, Q, = 39, Q, =42 2% Q, = 48 =g, wPSod Dakbidon rOFOBRRY, Fory SHRCWD.

_ SECTION - B/agnri—w -
Answer any three questions.
e Dath BInent eBOND.

(3><5=15) .

2. Drawa sultable diagram to represent the following data on livelihood patterns in India, U.S.A.

and U.K.

HR08, C0.aT.. By oh0.8. Fene BeSdneaodn Bedoids) g&a@\o&s BINS TRE, ROBROTE Lrade,
2000 Beat 3BT SO, »
Occupations India U.S.A. U.K.

o en ous oo, %* .. oo,
Agriculture and forestry 1% 13% 5%
TR ) BoryrdE

Manufacturing and Commerce 15% 46% 55%

08 o3 Torsey

Other Industries and services  14% 41% 40%

530 ot Ay Headried -

Total/nt, 100% 100% 100%

3. Prepare a Histogram and a frequency polygon to the following data.

BN Ty RO0T B8 Boreesd 143 sy i3 LRMDIDYS UIRD.

Class 0-6 6—12 12-20 | 20-28 | 28-40 | 40-50
)
frequency 16 30 40 24 12
e
4. Find Q,, D, and P, to the following data.
#ns ;R Q,, D, SR P, FoolRod. _
Income (Rs.) 2500 | 3000 § 3250 | 3500 § 3750 4000 | 6000
b ‘
No. of Persons 20 14 06 26 09 13 04
rseirie Kost, '
5. Calculate 4 yearly Moving Average for the following data.
89N SR8, oy ValrTiv 130 FoDROAR) ForRCT.
Years 2005 | 2006 { 2007 | 2008 ] 2009 | 2010 | 2011} 20i2
Sae
Output in (*000) 10 15 18 15 17 14 | 18 16
ovEEs (TISHY)




IRIHEAERIURRER 3 36326/C 260

6. Calculate mean deviation from median to the following data.
#INSI WAnen 2o oddot B0 MO BoRdbRND.

Marks 20 40 50 60 75 80 95
Losneh
Frequency 4 10 15 - 18 12 8 2
o3 |
SECTION —~ C/ayori— ¥

Answer any two questions. - (2x15=30)
temor S0 TFrier eusoro. ,
7.. a) Give three differences between graphs and diagrams. : (3+12)

Jesronsy, Sz Sesd UBTY IROT R0 FJYRRG), W00,
b) Draw suitable ogive curve and hence find graphically
i) value of Q,D;and P
it) No. of families income less than 25,000/-
RoBROTE B0 F3 IF, 3000 D) Sea BT R0
1) Q,, D, @2 P, tidonsay sombimond.
i) dr. 25,000/~ rieNcs A LTROD BT BirdorndR SoriRcwd.

Monthly income | Less than | Less than | Less than | Less than | Less than | Less than | Less than | Less than
SRE umeed 5000/- 10,000/~ | 15,000/- | 20,000/~ | 25,000/- 30,000/- § 35,000/- | 40,000/-
No. of families 04 12 .25 45 67 77 85 90
Sakvotari ok,
8. a) Define standard deviation. State any three properties of standard deviation. (5+10)

BRE DS g 8020, Fnae drsvsod e SRt rorgRF NYR) WBoD.
b) Find Karl-Pearson’s coefficient of skewness to the following data and comment on the result.
BN TR TOF LOLTF TS DB rHOR0E SoRBROWD FB) AeF LTI, BeCD.

Weekly Income (Rs.) | 700 — 1000 | 1000 — 1500 | 1500 — 1900 | 1900 — 2500 § 2500 — 3000
THOE wmeed (CR)
No. of Persons 05 il 26 10 08
RnY Kosd |
9. a) Define probability of an event. State the addition theorem of probability for any two
events. A (4+5+6)

RogRecsdon w23 BoB0. S8R Der o RNedus AogRNecsd3odm) Wk,
b) Two cards are drawn at random from a pack of cards. What is the probability that drawn
two cards are (i) kings (ii) spade cards.
R ToE FITR) Wwoldd TBHINCE BRTSRODCINE. ¢ SOR> BRF e (1) ooz (il) N uaz_z‘rmq)d,
oRne oo gotd HRACNO.
c) For the following probability distribution, find K, E(X) and S.D. (X).
Bt doeoad RoyiRdectdod d3groed, K, E(X) @2 S.D. (X) Re B3t dodobomond.
X —1 0 1 2 3

K Jo | Ko | N ¢
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10. a) Define Time series. Distinguish between Secular vaniation and Business cycles in time

series. 4+11)
50 Jerine mysd, 2000, Boerdoddod HEprEdE il o) T390 BROVODS BRI FIARIR) I0R0.

b) Fit a straight line trend by the Method of 1.east Square to the following data.
BN T8 BB JIrir e DRI Sedeass B Gowrt Ceax0.

Years : 2010 { 2011 2012 | 2013 2014 | 2015

SRED _
Production (’000 tonnes) 90 110 125 120 115 128
s (P000 ustnivd)

i) Obtain the trend values.

TFS W3S o0
i1} Estimate the production for the year 2018.

2018 e Sedr & vz ES03R) B0tz B5E0.
SECTION — D/agnn— @
CASE — STUDY (&80 e253,0353)

(Compulsory/saod 12 ) (1x15=15)
11. Following case relates to wage distribution of two manufacturing F irmsA and B. The computed -
figures are as under : (2+4+5+4)

81 3973 BT O uREm A 353) B voindd ged H3dsr ,oowombdaéd Q0T L) 08— 0B
WnSo3ss:

Firm “A”/wobsd “e” | Firm “B”/wodd o
No. of Employees 2500 3000
900 xozt ,
Mean wages (Rs.) 4000/- 3500/-
RoaXD 820 (B5.) |
Mode-Wages (Rs.) 3750/- 3700/-
tEbus- 860 (8a.) '
Standard deviation (Rs.) 250/- 220/-
DehE Seéos (de.)

You are a Statistician, find out :
S30oN, Bo@) HBOWD.

ac&‘g)u.g_‘

i) Which firm pays higher wage bill ?
cizEs et By 4AOaDR) EeERE 7
ii) Which firm has greater variability in wages ?
IR uRsbodn BeonG P Driod sordd WORHE 7
iit) What is the combined standard deviation of the two firms A and B ?
W) evBSHNG 1) NeRAT Snas Do o et 7
iv) Whatis the coefficient of skewness for firm *A” and firm “B” ?Draw your inference

" for the result.

“A” euget =8y “B” wwasbriv daixdad roreosiv SoreRond. Ry Her iR, tdotD.
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Reg. No.

III Semester B.Com.2 Degree Examination, Nov./Dec. 2018
Paper — I : BUSINESS STATISTICS

(Repeaters) ’

Time : 3 Hours Max. Marks : 80

1.

Instructions : 1) Simple calculator is allowed.
2) Working steps should be neatly mentioned.
SECTION -A

Answer any ten of the following : (10x2=20)

a)
b)
©)
d)

€)
f)
g)
h)
i)
J)
k)
b

Define business statistics.

What do you mean by geographical classification ? Give an example.
State any two objects of tabulation,

Find mean for the values :

28 30 25 32 44 30 34

Define mean deviation.

Define Karl Pearson’s coefficient of correlation,

Write any two properties of regression coefficient.

What do you mean by time series ?

Name the stages of Business cycle.

What is price relative ?

Mention any two uses of cost of living Index number.

For frequency distribution if mean =30 and SD = 6, find CV.
| - SECTION-B

Answer any three questions of the following : - (3x5=15)
2. What are the qualities of a good average 7
3. Calculate lower quartile for the following data :

CI: 0-10 10-20| 20-30}| 30-40] 40-50} 50-60| 60-70
f: 5 8 15 20 16 11 5
Calculate 3 yearly moving averages for the following data :
Year : 2001 | 2002 | 2003 | 2004{ 2005| 2006 | 2007| 2008 2009
Production

52 49 55 49 52 57 54 58 59

(°000)

PT.O.
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5. Construct the consumer price IN from the following data :

Group Index Number | Weights

Food - ' 352 48

Fuel 220 10

Clothing 230 8

House Rent 160 12

Miscellaneous 190 15 _
6. Following are the ranks obtained by 10 students in two subjects. Find the coefficient of rank

correlation, o

Statistics : 1 2 3 4 5 6 7 8 9 10

Accountancy : 2 4 1 5 3 9 7 10 6 8

SECTION-C
Answer any two questions of the following : (2x15=30)
7. Calculate mean, median and mode for the following data. A
CI: 0-10 | 10-20| 20-30) 30-40| 40-50| 50-601 60-70
f: 8 12 20 30 15 10 5

8. Two cricketers scored the following runs in the 10 innings. Find who is a better run getter and
who is more consistent player ? A

Cricketer—A{ 32 | 48 13 51 38 43 50 36 47 82

Cricketer—B| 352 5 12 | 83 371 H2| 42 18 79 20

9. Following are the figures of Production (in 000 quintals) of a sugar factory.

Year : 2006 ] 2007| 2008 | 2009| 2010 | 2011 2012 | 2013 | 2014
Production : 53 60 63 65 72 84 90 87 92

i) Fit a straight line trend by least sduare method and calculate trend values.
it} Draw the graph of trend values and original values.

iii) Estimate the production for the year 2015.




k
]
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10. Calculate Laspeyre’s, Paasche’s Fisher’s and Marshall-Edgeworth’s price index number for .
the following data.
Commodity : Base Year : : Current Year :
Price Quantity Price Quantity

A 4 20 5 25

B 6 15 4 25

C 3 30 6 35

D 2 50 3 60

E 4 25 5 30

SECTION -D

Case study analysis : (Compulsory question) :

15

11. The following data given information regarding expenses on advertisement in thousands (x)
and sales in lakh (y) in different years :

X

Mean 6
SD 1.5
r=+09

Now as statistician you advise the firm about

i) Estimate the likely sales for a proposed advertisement expenditure of ¥ 10,000

ii) What should be the advertisement expenditure if the proposed sales target of X 60,00,000.

1. 89nsdema =8y Porert ¢ugoro:

Wy i3
-

a) TPTHOT KRBT sWT, 8RO,

b) Prine? SNFE0n Q0B 7 YREOT BB,

) Tepachos Wemn o TBrTa, Ldoude.
d) F9nSTReNT BoRT0 FoERBONC.

28 30 25 32
e} RovR0 LD s, ERD.

) U actRTTRT BERo0s MImCES ), SARD.

44 30

34

g) Lorum Mmoo Bt ot g Wik,

h) moses aordr?

i) SSE0Y oD BoINTSY, TROAD.

(10x2=20)

i
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j) W8 R0l FRneol B 0¥ HOHVESD ?
k) et o, Revdoantd tesor SO evKedeerinds), Bewo.
[) xooro = 30 @3 SR MR = 6 RO Wword BFE NICH TRAFE FFT ForELRD.

open-w
NS L3t SATE, GUZORD : (3x5=15)
2. 2oz ¢udedh RooNood SRTISE r{moﬁpr{waj@ 9
3. NS RAY TP WFF I SR FOBRBCWD,
CI: 0-10 10-20} 20-30| 30-40| 40-501| 50-60 60-70
f: 5 8 15 20 16 11 5
4. NG e, SRt T o B0 FEORONTR) BoBRBON0, _
TR 2001 |- 2002 | 2003 | 2004 2005 2006 | 2007| 2008 | 2009
Chepiang
= 52 49 55 49 52 57 54 58 59
(’000)
5. 9t dru BrEEn AEd 0300 22eds a5t Rem,08 Tosd, RAOFAD.
T RAwEe,08 3R
Sxple] 352 48
BV eniow 220 10
W, 230 8
=R welrt 160 12
o3¢ 190 15
6. B BN TR SO Ao Feed & FnT033, Berd BBRo0RH rOFPOIRY, FoRdBWD.
Roemzon s | 1 2 3 4 5 6 7 8 9 10
SEzR, ¢ 2 4 1 5 3 9 7 10 6 8
Qyen - 3
PN IR FTFE, BoRD : (2%15=30)
7. 2R TRE HovRD, Worm,08 TN WEKVERTR) FomloR0.
CI: 0-10 10-20] 20-30| 30-40| 40-50] 50-60 60 -70
f: 8 12 20 30 15 10 5
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8. B T8y SRV, HeAT oY 0 FUNSo3Es. BRI RIROE IR SHRTR) HugH
T ried S ). AOBORR BRoDBE SHIMTTR), Som@m00.

dduct A 32 | 48] 13} 51 ] 38| 43 50 | 36 ] 47} 82
$3uc’ — B 521 5 12| 83| 37| 112} 42 18] 79| 20
9. wond ALY memrsen (*000 3 omerndd) summSodn FnToscs.
R 2006 [ 2007| 2008 2009| 2010| 2011 | 2012 | 2013 | 2014
SUTOR : 53 60 63 65 72 84 90 87 92

i) % Snr Traces Aoddem B S0 B TF3 WeIrdR), SoROLACND.
i) I3 Send R FwemEd eded Sk,

iii) 2015 O vwRESai) om0,
10, #nS A8 comodx”, TR 430" ) SRRF O -BEFT T LI B, BE) BORIBCN0.

-~ Sl TR - BUWOB TR
0, 2 ) 8o ————
A 4 20 5 25
B 6 15 4 25
C 3 30 6 35
D 2 50 -3 60
E 4 25 5 30
SyoR- o
TE0ee LR D3R | (Fwed B) | ' 15
11, 36n3 MR H0E TRFMVY, Fuwts Dor AT TR r9g (X) =38 Seoows 03 0R 190, (Y) Snbed G030
X Y ‘
RoORO 6 . 40
RREY HoS 1.5 10
r=+09

Ro2m0, 20 g5 ToN B1 BN SRS S o5 €ndd
i) Twomhde 10,000 203> SRAmRR SRR BR0E
ii) g 60,00,000 RroosEmRe SemRe Fuos DWF .
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111 Semester B.Com.3 Degree Examination, November/December 2018

RETAIL MANAGEMENT (Regular)

Time : 3 Hours

Instructions : 1) Answer all the questions according to internal choice.
2) Question No. 11 under Section D is compulsory.

SECTION - A

1. Answer any ten of the following questions.

a)
b)
c)
d)
e)
1y
g)
h)
i)
i)}
k)
)]

Define Retailing.

What is Retail Management ?

What is Organised Retailing ?

State any two formats of retailing.
What is Franchising ?

‘What is Foreign Direct Investment ?

Write any four internal factors influencing pricing,

State any two methods of direct sale.
Define Advertising.

Define channels of distribution.
Who is Broker ?

Expand : FEMA and MRTP.

Answer any three of the following questions.

S o

Explain the benefits of organiséd retailing.
Briefly explain the advantages and disadvantages of Franchising,
Explain the external factors influencing retail pricing.
Explain the functions of wholesalers. A
Briefly explain modern retail formats.

SECTION - C

Answer any two of the following questions.

SECTION -B

Max. Marks : 80

(10x2=20)

(3x5=15)

(2%15=30)

7. Explain the characteristics and importance of retailing.
8. Define E-retailing. Explain the merits and demerits of E-retailing.

9. Explain the advantages and disadvantages of Foreign Direct Investment.

10. Define sales promotion. Explain the objectives and tools of sales promotion.

P.T.O.
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SECTION -D
11. Case study (compulsory question). » (1x15=15)
Since globalisation the retail industry in India is growing at a faster rate, the consumer behaviour
is also changing. Now Mall culture is developing in small cities also. Byi kecping in mind sich
developments in Mall culture Mr. Sadanand an entrepreneur plans to establish a shopping
archade in Gokak city. He is requesting you to suggest in the following matters.
1) What are the factors influence the emergence of Malls in India ? '
2) What are the types of Malls operating in India ?
3) Impact of Mall culture on Indian society.
o iy
BRUdne 1 1) eodor val)iedwy oo FIrenn eugone.
2) ZFzoxd 11 Zros e obs sapatemnd.
NN -
1. 89nS Bemon w3 [Arer evgomo. (10x2=20)
a) 30089 RIITH Ty WSoWO.
b) #0¥¢ IO ATFTE BB ?
C) Ropess 0B T wowdesd ?
d) 3008 RROE cIRYIRTTD OB FRRSATI) BI0KD.
€} Tworron’ oBBed ?
f) Dded $e0 Boas SoBded ?
g) S dgordd e Do et ciRHTHEER ey ©0308 LoBnvR) WD,
h) 3 InooLT SRR 0@ SRR, SKO. |
i) 20%o083 @328 wdowd.
) oFom nnendaeg wienx.
k) Beny 20w8 atntd?
1) &xox wdond : FEMA 23 MRTP.
- w
BN temors e Baren eusord. o C (3x5=15)
2. Ropptss 80588 mIHOE JodeensnvR) DTOM0.
TR0 R 38) STRBRCERUR, Rosgon DIOD.
308¢ 303 DEFoE Sded Fyna wedh 1T, LoBndR HTOXD.
Rt SRERURD TODFAVS) HFORO. "
&ER8 $chEy FuEus SRconds, Redmen JTORD.

A U o
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o - 8

#nS teword o JIrert LuZond. (2x15=30)

7.
8.
9.
10.

1.

#0009 SRERTE oFersh Torie SB[, HIOX0.
SRR $cE¢ SO T3, wickd. DRI Y FPmUs eRreed %) eRBAINNR DIOXD.
Oed 0 Beadod vbdeodnd Bz vRErendE HTOR.
oot Fadr ot mo,ad, wicwd. eud eurdrntd S8 MPSATRL DHIOXO.

-3
ZBces Lo (Samed T3). : (1x15=15)
W3E0nG BomOREoN $088 FSHT Seraon ooz, wsmddms TBFEnPY, wae wiooTnsd
ares. ot B $88d Soerind Fogd tifeodd, An, NG se AmpFots e Lot LEeT s
Soertod) Res dﬂddq, TRPOHTLD WODART. 83 LFLoDO, €530 31 $9NT JIriont ewugon.
1) Ro3 wmsr sced Soort (Snor B d) oy wdeden sdms eoBnwd) ?
2) woUdsgxs dOG Ios et e Derndy 0r0.
3) E3E SR Ded S #ax&&oﬁ Homabnvd) D[ORD.
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Third Semester B.Com. 2/B.Com. 3 Degree Examination, Nov./Dec. 2018
COMPUTER APPLICATIONS IN BUSINESS
Paper — 11 (Regular/Repeater)

Time : 3 Hours Max. Marks : 80

Instructions : 1) Answer all Sections, subject to internal choice
2) Section — D is compulsory.

SECTION —- A

Answer any ten questions, each carries two marks : (10x2=20)

X RN RN -

What 1s ESS ?

Define cell address give example.

Write the purpose of validation in MS-Excel.

Write the syntax and example for LEN() and LOWER() in MS-Excel.
Define attribute. Give example.

Expand DDL and DSS.

Write the meaning of query in MS-Access.

List any four objects of MS-Access.

Define relationship.

10. What do you mean by data processing ?
11. What is off-line system ?
12. Write any two limitations of MIS.
SECTION - B
" Answer any three questions, each carries 5 marks : (3x5=15)
13. Explain the cell references in MS-Excel with example.
14. Write the steps to create and delete the macro in MS-Excel.
15. Write the advantages of DBMS over file oriented system.
16. What is form ? Write the steps to create form in MS-Access.
17. Explain the benefits of MIS. »

P.T.O.
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SECTION - C

Answer any two questions, each carries 15 marks : (2x15=30)
18. Define chart. Explain different types of charts with diagram.
19. Define database. Explain the risks and costs involved in database system.
20. Who is system analyst ? Discuss in detail the role and responsibilities of system analyst in
an organization.
21. Write short notes on ;
a) Worksheet components.
b) Reports in MS-Access.
¢y DSS.

SECTION -D

Case study (compulsory) : ' (1x15=15)
22. Create a student table in MS-Access with following fields Roll no, name, course, Sub 1, _

Sub2, Sub3, Sub4, total, average and perform following operations.

a) Insert five student details.

b) Calculate total as subl + sub2 + sub3 + subd.

c) Calculate average as total/4.

d)} Sort the records in ascending order of total marks.

e) Display the student details who’s average is above 60.

f) Display the student details who’s course is “B.Com.”
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II1 Semester B.Com.3 Degree Examination, November/December 2018
INDUSTRIAL ECONOMICS

Time : 3 Hours Max. Marks : 80
Instructions : 1} All Sections are compulsory.

DD DTAND afago:bmnd.
2) All sub-questions should be solved continuously at one place.
QLD LT FINT tuodde FIES, ATOTTTON ¢UFOL0.
3} Use of calculator is permitted.
FRLRIENOT aiTed LORDS A,
4} No supplements will be supplied.
ORI YROYOU,
SECTION —A

TN - @
1. Answer any ten of the following questions in 2 — 3 sentences each. (10%x2=20) .
CIRRTTTR a‘_a:iiz -3 TETY | 235000.
a) What is Industrial Development ?
Eoom LRG0 omteRd ?
b) What is joint sector ?
Roodng B HomBed ?
c) What is globahization ?
r8eE0ee oBBER ?
d) What is economic reform ? |
HOFE XG0 aordtey 7
e) What is E-business ?
E-3@3%0 2omdes 7
f) Expand MRTP.
MRTPebs) &5ore.
g) Define Industrial Policy.
EroOm ReSCHR) YL
h) What is ubi-quities ?
B §BN VP TRNOR TRMED ouded 9

P.T.O.
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1) What is localization of industries ?
ZrodE Seoly et wordeRd 7

J) What is EXIM Bank ?
EXIM 3,05 aor3desd ?

k) Define foreign capital.
T3ed ORIV T8, DX

I) What is foreign collaboration ?
DTed RBOSLEN o3Te> 2
SECTION - B
o gen-w :
Answer any three of the following. (3x5=15)
odnYsde mu@ SVZOR0.
2. Explain the factors influencing industrial development.
grodm eszpa'é%o:b 200 e Werhs eosﬁvai QTOAB.
3. Explain the features of 1948 Industrial Policy.
1948 g gmom descd VBN DTORO.
4. Write a note on globalization,
WNSETe DO 1S WSCWO.
5. Explain the working of IDBI.
IDBI & ToCIF RS BRODR, HTOXD.
6. Explain the importance of FED.L

23ed Fed woros ab@%dz&g{ DTORD.
SECTION - C
omr - 8
Answer any two of the following, (2x15=30)
IR QRS 25 L0, |

7. What is industrialization ? Explain the factors inhibiting industrialization.
grodesds 2oaded 9 g rw0essed RoEmnts ©0BNTR) DHORO.

8. Explain the Sargent Florence theory of Industrial Location.
AR 0K GO TR0 §ro0m Koesses Aoy X300,

9. Explain the objectives and functions of S.I.D.B.1.
S.ILD.B.L © ez so2) mmrrw;i DTOAD.

10. Explain the merits and demerits of foreign capital.

dxc3ed woBHT woyl Wiz TOVNLR), DO
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SECTION - D

Mgn-ad
Case let : compulsory. : (1x15=15)
s 3,
Finance is the life blood of industry, industries ensure finance to meet their short and long term
requirements. Our country has established many banks to fulfill the requirements of industries like
SFC, SIDBI, IDBI and EXIM Bank.

a) What is Industrial finance ? 5
b) What are the objectives of SFC ? : 5
¢) What are the functions of EXIM Bank ? 5

BeoBOR) FTROENE eV, FTobERon LeRmpaD Do) DEFFRF D BETAS BRZIS ATTT,. BRI SECORLD I3y -
Do) wiles EROF NV, RIRAT, 35 R TR, DEF. LSORF. 820 SO0, SO, B.20.500. 0B IR 0T

a) §rom Bravord oTTeRd 7 5
b) o= oF. & 3 eocdesnsh GRPD) ? 5
¢) EXIM wm,0d8 soosdrionsded) 7
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ITI Semester B.Com.3 Degree Examination, November/December 2018

BANKING LAW AND PRACTICE
{Regular and Repeaters) (New Syllabus)

Time : 3 Hours

1.

Max. Marks : 80

Instructions : 1) Answer all the questions according to internal choices.

eoIoF RRVTE P 77 &03020.
‘J el -

2) Question No. 11 (case studies} is compulsory.
ggxfo.&; 11 (5o ugabaj a‘ago:bmnz’z

SECTION - A
Answer any ten of the following :

a) Write the root words of the term ‘Bank’.
b) Who is a customer of bank ?
¢} What do you mean by foreign banks ?
d) What do you mean by wrongful dishonour of cheque ?
e) Mention any four features of Current Account.
f) Who is an executor ?
g) Write any two reasons for closing of a bank account.
h) Define endorsement.
i) Expand :

1) RTGS and

ii) B,B.
j) Mention any two limitations of e-banking,
k) What is an order cheque ?

(10x2=20)

1} Mention any two alterations which are not considered as material alterations.

SECTION - B

Answer any three of the following :

2.

AN I o

Briefly discuss the primary functions of commercial banks.

Explain the subsidiary general relationship between banker and customer.

Distinguish between general crossing and special érossing.

Explain the procedure followed in opening a current account in a bank.

Discuss the four forms (facets) of e-banking.

(3x5=15)

P.T.O.




36324/C 240 2 0 0 0 O D

Angwer any two of the following :
7.

10.

11.

1.

SECTION - C

What is banker’s obligation to maintain secrecy of his customer’s account ? Discuss the
exceptions and the cdn'sequences of unjustified disclosure.
Define the terms Banker and Banking Company. Discuss the primary general relationship
between banker and customer.
Explain the precautions to be taken by a banker while opening and operating a partnership
firm’s account.
Define e-banking. Distinguish between traditional and e-banking. Discuss the advantages of
ATM. |

SECTION - D

Case Study - Compulsory question : (5x3=18)

a) A customer of a bank writes a cheque by using pencil. What do you do in this case as a
banker ?
b) A cheque dated 1% August, 2017 was presented for payment on 5" November, 2017. Explain
actions.
¢) Acrossing cancelled cheque is presented for payment at the counter. Discuss the banker’s
duties in this case.
d) A cheque dated 1% December, 2017 was presentcd for payment on 21+ Octobcr 2017.
Discuss a banker’s actions.
e} Mr. Omkar has a fixed deposit of Rs. 2 lakh in a bank. Its maturity will be on 30-6-2019.
As Mr. Omkar is in need of money, he presents it for payment on 1% November, 2018. As
a banker, how would you act ?
TRW 3D
QTN - ¢

Bews 2R [Iror evgdoad: (10x2=20)

a) 7,05 B saew eﬁz%ﬁﬁdgi B0,
b) t®088 MEIR0nS odndh ?

C) Dded 1R,08NFoTITed ?

d) @8 Smh erRdRDD @osded 2

T e) ¥ wvdod cinmnde o0, BT VRO,

) mobr3cSeomas 20ss aind 9
g) wyoF 33BN, VWO CINFHTTTH TR TUFNRTR), wioWO.
h) 8000 B, T80, 0000,
1) ©5ox wdowd:
i) RTGS =3
ii) B,B.

(2x15=30)
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j) "a-wmoton®' s cdnRreTite SUR BSMOSNFR SYAD.

k) ‘es5e8 35 o3 9

D) cinrewtn 0@ wd&aﬁﬁﬁ#z\g e (@ﬁega’) LTERBHBRYORO BONESRTRTORD Ro2ud.
agert - W

5T SRTE, GUSORD: (3x5=15)

2.

3.
4,
5
6

03, LR, 080N R HPRT FODFTWRD Rodgmon 1830,

WROF0" 2 MOFTETC IBIT IROTONT BT, Rorwogis, 25020,
ROBRT, BesDeB0ED ) HFeR Fedegde BFIHT FIAAT), 180000,
13,0839, 1O 5000 TR, BORLD T, 00055 DRIV, LSOO

. B-IROBON'S ey, DENYRY BFAD.

oRR -8

e 0w SUZ0R0 : (2x15=30)

7.

10.

11.

maoéd:b ési T8 930D MDS MIRRN BRTMOE 0Bt 7 acﬂz}id)a eﬁmcﬂr{e}a@‘ 308 w53,0300303830 T

L&OONRRYRIYTT TWOFTTONTY, W3FAD.

U,080° By 23,0807 BeTROD e, ReBO. 10807 F) MFTIT FBVRT TFL0T ROTIT, ROWOFII),

LRIFRD.

TPEOTOR ﬁoﬁ@cd: SO, TBoRRAITN BB NSF LROTIN 1,030 Fregdenn B0F30F FIONIR

DTORL.

B-WOBOTI), A, COA0. AOTTVOWE F0BY B-WR03ON T FIYANTR) wWBOWO. “‘id0”' S BoIRINTDY

W33 A0,

apen - B

FF0rs L 0T - ITeH T, (5x3=15)

a) 20T W08 MREEtR2It BRASF Wk 1B WORTHT. W), W,08TIN e HeR BSFRODD 7

b) ome8 1 3e ez, 2017 Somd Fp0eatds W) D08 5 e SBoess, 2017 8oxd mmBsreon FOend,
gorvay DR,

C) Beadeo TRYRPVAT B8E) Toeddron 2o 3O AORCHNT, B8 [EornY wooso’s FBEFNWRD IR0,

d) oos 1 e @otste, 2017 0w 2060 BRoOTHT WYY OFved 21 Se ednpwor, 2017 dord moasamn
ROROONT, 2wy, WW,0F0°S BRNT), 1323 2D

€) 8¢ LornTtID word RN, de. 2 gnd Focd B3y, BrodtbeRT. T Oecd 30-6-2019 domd
BEREVIT. B¢ Losdd euon Brn B8 AMPHEE, BRM BT Oocd 1 Je s@ower, 2018 Socse
TSN FORTRT. W), 1,080 0N Deay Ber S3FRI0 7
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I1I Semester B.Com.3 Degree Examination, November/December 2018
CORPORATE ACCOUNTING - I
(Regular and Repeater)
Compulsory
Time : 3 Hours Max. Marks : 80

Instructions : 1) Attempt all Sections according to Internal Choice.
&o¥os esaig Bt pled QD @WM QUI0R0,
2) Use of calculator is allowed,
73, e  Jedi0 weiTen MSRENE.
3) Give working notes wherever necessary.
OSY DS, LTS 1Tao.
_ SECTION - A
1. Answer any ten of the following : (10 x2=20)

a) What is dividend ?
b) What is Interim Dividend ?
¢) What is Goodwill ?
d) Name two methods of valuation of Goodwill.
e) What is liquidation of a company ?
f) Name two types of liquidation of Company.
g) What is share ?
h) Name two methods of valuation of shares.
1) Name any two principal books maintained by Banking Company.
J) What is Statutory Reserve ?
k) Name any two items appeared in schedule No. XI of Balance Sheet of Bank Alcs.
) Name two factors affecting valuation of shares.

SECTION - B
Answer any three of the following : (3x5=15)
2. Name any five circumstance under which company is compulsory wound-up.
3. The following are the particulars relating to a limited company.

L4
20,000 Equity Shares of ¥ 10/- each full paid » A 2,00,000

Proposed dividend at 20% on the above equity shares 40,000
' P.T.O.
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Total Assets 6,00,000 '
External Liabilities 2,880,000
From the above compute the
a) Ex-dividend value of equity shares.

b} Cum-dividend value of equity shares.

4. From the following particulars of Vikas Co. Ltd. calculate the value of Goodwill under simple

Average profits method.
Year ending 31% December Profits
4
2011 ' 30,000
2012 20,000
2013 24,000
2014 ‘ 22,000
2015 : 24,000

It was decided to value the goodwill of the Vikas Co. Ltd. on the basis of 3 year’s purchase of
the average profits of the past five years under simple average profits method.
5. From the following information of Basaveshwar Bank Ltd. Prepare the profit and loss account

for the year ending 31-3-2015 along with the prescribed forms and the concemed schedules.

Particulars 3
Interest and Discount 3,00,000
Interest on Borrowings from RBI 60,000
" Income on Investments 50,000
Interest on Deposits 1,00,000
Interest on Balance with RBI A 10,000
Commission and exchange 40,000
Salary and Allowances to staff A 40,000
Travelling expenses 6,000
Directors fees 4,000
Auditors fees D 2,000

Profit and loss A/c (Cr. Balance on 31-3-2014) 80,000
Adjustments : '

a) Make provision for bad and doubtful debts ¥ 24,000

b) Make provision for Income Tax ¥ 36,000

c) Provide for diminution in the value of Investments ¥ 8,000.
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6. The Ultra Optimist Ltd. went into liquidation. Its assets realised T 3,50,000 excluding amount
realised by sale of securities held by the secured creditors. The following was the position :

Share capital 1,000 shares of T 100/- each

- Secured creditors (securities realised ¥ 40,000)
Preferential creditors
Unsecured creditors

Debentures having a floating charge on the assets of the company

Liquidation expenses

Liquidation remuneration

Prepare liquidators final statement of account.

SECTION - C

Answer any two of the following :
7. Following are the balances extracted from the books of M/S Manjula Ltd. for the year ending
31-3-2014, prepare the balance sheet as on 31-3-2014 as prescribed by schedule VI of the
companies Act along with the notes to accounts.

S1. No.

AN o

.

10.
11.
12.
13.
14.
15.
16.

Particulars (Name of account)

Share Capital :

3,000 equity shares of T 10/- each

10,000 preference shares of ¥ 10/- each
Securities premium

General Reserve

Loss for the current year

Bonds and debentures

Long-term loans from Banks

(secured on Buildings)

Other Long terms loans

Short-terms Borrowing from others

Trade payables (short terms)

Other current liabilities

Provision for Income Tax

Provision for salaries and wages

Buildings (after Depreciation of ¥ 35,000)
Furniture (after Depreciation of ¥ 1,000)
Capital work-in-progress (cost of construction)
Investments in Govt. Instruments (Non-current)

Dr.
£4

2,30,000
15,000
10,000
30,000

36323/C 230

4
1,00,000
35,000
6,000
1,40,000
2,50,000
5,000
7,500

(2x15=30)

Cr.
?

30,000
1,00,000
50,000
1,12,500
60,000
40,000

20,000
30,000
1,04,500
17,000
65,000
5,000
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17.  Investments in preference shares (Non-current) 12,520 -
18.  Closing stock 1,20,000 -
19.  Loose Tools 5,800 -
20.  Trade Receivables (short terms) 1,20,480 -
21.  Cash-in-Hand 27,500 - -
22,  Cashat Bank : 32,700 -

Total 634,000  6,34,000
Additional Information : '
a) Authorised capital of the company consists of 4,000 equity shares of X 10/- each and

20,000 preference shares of ¥ 10/- each.

b) Other current liabilities consists of “Income received in advance”.

8. The capital of the dis-appointed Ltd. was as follows :
a) 1,000 preference shares of T 100/- each fully paid
b) 4,000 Equity shares of ¥ 100/- each fully paid
c) 3,000 Equity shares of ¥ 100/- each T 80/- paid _
Under the articles of the company the preference shares have a priority over the equity shares
in regard to repayment of capital.
The creditors were ¥ 2,54,900 of which ¥ 10,900 were preferential and ¥ 54,000 fully secured.
The Assets realised 3,74,000 including. ¥ 64,000 sold on behalf of the fully secured creditors.
The cost of liquidation amounted to ¥ 12,000 and liguidators remuneration was fixed at 5%
on the amount realtised (excluding the security of creditors) and 3% on the amount distributed
to unsecured creditors excluding preferential creditors.
The liquidators made a call of ¥ 15/- per share on the partly paid equity shares which was
duly paid except by one member holding 2,000 shares.
Prepare liquidator’s Final Statement.

9. From the following trial balance of Ideal Bank Ltd. as at 31-3-20135 prepare the final accounts
in the prescribed forms and schedules (Give notes if necessary) :

Name of Accounts Debit Credit
L4 4

Share Capital :

20,000 shares of T 10/- each - 2,00,000
Statutory Reserve - 1,50,000
Net profit for the year (Before appropriation) - 2,50,000
Profit and Loss Account (balance on 1-4-2014) - 2,00,000
Current Accounts A - 6,830,000

Savings Bank Accounts - 2,20,000
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10.

Fixed Deposits —
Borrowings from other Banks -
Bills payable -
Cash in Hand 2,00,000
Cash with Reserve Bank of India 50,000
Cash with other Banks 2,40,000
Money at call and short notice ' 1,10,000
Investment-in-Govt. securities 1,40,000
Investments in Gold 40,000
Bills purchased and discounted - 3,00,000
Cash credits and overdrafts 4,75,000
Term loans - 5,25,000
Premises (cost ¥ 1,20,000) - 90,000
Furniture (cost ¥ 50,000) ‘ 30,000

22,00,000
Other Information :
a) Claims against the bank not acknowledged as debts ¥ 20,000.
b) Acceptances and endorsements amounted to T 1,60,000.‘,
¢) Bilis for collection amounted to ¥ 1,50,000.

36323/C 230

3,00,000
1,60,000
40,000

22,00,000

From the following information relating to Zenith Co. Ltd. Célculate the fair value of equity

shares
Balance Sheet as at 31-3-2015
Particulars ' Note
1 Equity and Liabilities : ‘
Shareholders Funds :
Share capital (20,000 shares of ¥ 10/- each) ‘ -
Reserves and surplus -
Current Liabilities -
Total
I Assets .
Non-current Assets :
Tangible Fixed Assets -
Current Assets . -
Total

2,00,000
40,000
60,000

3,00,000

2,00,000
1,00,000
3,00,000

For the purpose of valuation, Goodwill, Fixed Assets and Current Assets were valued
at 3 30,000 and ¥ 2,70,000 and ¥ 80,000 respectively. The average profit on the basis of
profits of the last four years was ¥ 60,000. The company transfer 25% of the profits to General

Reserve every year. The market yield of a similar type of share is 15%.
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11.

SECTION -D

Compulsory (1x15=15)
The following particulars are available in respect of the business carried on by a trader.

a)

b)
c)
d
€)

Profit earned for the following three years.

2014 = ¥ 22,000

2015 = 29,000

2016 = T 24,000

The normal rate of return is 10%

Average capital employed in the business T 1,50,000.

Present value of annuity of Re. 1 to 5 years @ 10% is 3.78.

The profit included non-recurring profit on an average basis T 3,000.

You are required to calculate the value of goodwill of the business on the basis of

i) Five years purchase of super profits
{ii) Annunity Method of valuation

" iii) Capitalisation of super-profits.

iv) Comment on cach of the above value of Goodwill.
IRE 3

by,

Qe - ©

#9na tiemrs 10 BRert 0vgo0 : (10x2=20)

a)
b)
c)
d)
€)
H
g)
h)
1)
»
k)
)

ergood wo3ves> ?

ERRO CoL08 oBTE ?

e3¢ &30 QOT3eRD ?

“3ed 3500, I, Y IR SOR> BEIATR, BAOKD.
202003 RS woEBed ? _

Bonod SRS SOE> FEITNRTR), BROAD.

B 0T 7

BeTonv, RPRRTI RRESE 0B adl:};éﬁ#dgt Bevd.
10,0307 BRI QETE OB FGPS WYERTR BROKD.
ZoRa 0, DO DOTITER ? '

wRy00N* domAa> g D30 epess BYF I3aed X1 3G, 2a8es TR wto) BewO.
Betons IPeE, Horos webs QBR> BoRInTa), BROAO.




(A R R A -

ayen - W
S 29N e 3 WAV GuBON0
5 g wokod YostRane SmubN SR ReRI Web Roddr IR 0RO
3. nodaos Sostort Rotsogs iz Bt SUNG TR HSNG.

20,000 mzng, Secbrich B3 2eox St T 10/- Sod Forer RooodeonTs
aDed Beord WRRT, Bewd woRmvr shedd pocked yosa 3o Besn 20 dod
u%aﬂﬁ&

R, EEROND

sdoedd 8ot} FaS o1 Joebleln] _

a) o -BNmnE wang, B0 SR Bone

b) do.-aQdor* MSNT Beos w50¢,TR) FodXeBOWD.
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(3%5=15)

T
2,00,000
40,000
6,00,000
2,380,000

a. awﬂmwmmmmms“eesr@qm;'magmaxomadmoemmm

BoR3%ROW0D.
Sxen 2nst 31 Aot

2011
2012
2013
2014
2015

oy

4
30,000
20,000
24,000
22,000
24,000

o o Bhod dedr PR S S E RovRD coria St ST D0R0D APeor TRRg JoRO

oo SGPRO0E G ORI,

5. wRSe3D 0T JoRodn Bt BUNS SR&ICHRY, Hers. w50 FE0oDHO0T BoTRD DoE-TD St wotod
Zone B Boworty, BRRE R 13, 14, 15 @rin 16 2% £333panIR, SoSRORD. S3rg $estod DY

31-3-2015 snco3cs.

Neios

wg, B Aeed

o720, Dor TBE Bon BoedI wB,
Bragod oed word e

Beednd Soeds v,

aor.0.0. §O, |8 Brecd SoedS v,
BoveRaT 23y HAFoD

200 Roww 3333 & ricd

Fewr 3

el edda g (09)

oy siodnrsita oy

g-moRend (xRndey 3 1-3-2014¢ gnstecdod)

£
3,00,000
60,000
50,000
1,00,000
10,000
40,000
40,000
6,000
4,000
2,000
80,000
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BT ;

a) RoBodRg =g B8 moneroh e $raoe I 24,000

b) wmod 2oR R werdomen T 36,000 2raos.

C) BN Hoeds 230, gaannruEton I 8,000/-&1:@0;&33&&0&0.

A A

6. B, FHORT DO FoTROD DRVFROMT Dor T IRD Enodr, T 3,50,000 5379 fnoeutoes woods
38 P B3T3 esang mwamafdg( BT Eaad
ToTAOD BT wid ‘aajg'i!)“ Bnked

e worsoy
1,000 Becoriso geseort T 100/- dog

S MI5ID (33 i Srooutos wes e T 40,000)

TR ABTTE
3T WITTTH (creditors)

MOBZ TER FoHedd AN Doed &3 (floating charge)

BY) EP0OTT,

OReES ﬁzﬂJ\‘dJ

DR TBO0D BoyRS

DREFREOOD 8033 &, BEBFODR) JoIRORD..

Stpart - ¢

B4 89N e3ews 2 FFnen vudons :

7. ®omod oI DOHZ B LELS

1,00,000
35,000
6,000
1,40,000

2,50,000

5,000
7,500

(2x15=30)

DRET Tnsbdotn Y I3 e 31-3-2014 3; 03 RnoEed
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